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1) same, different

2) negative reciprocal

3) Y = 3X + 2, m = 3
(0) = 3(0) + b
b=O

4) Y = 3X

5) on the graph

6) Y = 2X - 1, m = 2
(1) = 2(3) + b
b =-5

7) Y=2X-5

8) on the graph

9) Y = -X + 4
m = 1 (negative reciprocal)
(5) = 1(-1) + b
b=6

10) Y=X+6

11) on the graph

12) graph Y = X + 3
test points: (0,0) (-1,3)
(different test points may also be used)

Y"X+3
(0)" (0) + 3

0" 3, yes
solid line

(3)" (-1) + 3
3" 2, no

13) graph Y = -2X - 1
test points: (0,0)
Y<-2X- 1
(0) < -2(0) - 1
0<-1, no
dotted line

(-1, -2)

(-2) < -2(-1) - 1
-2< 1, yes

#5
iven line

218

#5

-'II

~..• ...•

gi
#8

..•• Vt::'11 11Ift::'

1) parallel

2) perpendicular

3) Y=1/2X-3
m = -2 (negative reciprocal)
(-1) = -2(4) + b
b=7

4) Y= -2X + 7

5) on the graph

6) Y = -3X
m = 1/3 (negative reciprocal)
(3) = 1/3 (-1) + b
b =10/3

7) Y = 1/3 X + 10/3

8) on the graph

9) Y = 1/3 X + 4, m = 1/3
(-2) = 1/3 (-2) + b
b = -4/3

10) Y=1/3X-4/3
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11) on the graph #12

12) graph Y = 2X + 4
test points: (0, 0)
Y>2X+4
(0) > 0(0) + 4
0>4, no
dotted line

(-2,2)

(2) > 2(-2) + 4

2> 0, yes

#1313) graph Y = -4X - 2
test points: (0, 0)
Y,,-4X-2
(0)" -4(0) - 2
0" -2, no
solid line

(-3,0)

(0) ,,-4(-3) - 2

0" 10, yes
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1) Y = X - 3, m = 1

Y = X + b = 0 = 1(1) + b
-1 = b

2) Y=X-l

3) -X+Y=-l

4) on the graph

5) [2Y=-3X+4j1/2 = Y=-3/2X+2

6) (0, 0), (4, 0)

7) Y > -3/2 X + 2

(0) > -3/2 (0) + 2

0>2, no

(0) > -3/2 (4) + 2

0>-6+2
0> -4, yes

8) on the graph - dottedline

Y2-Y1 0-3 3
9) m = --- = --- = - = m

X2-X1 0-2 2

Y = 3/2X + b = (0) = 3/2(0) + b

b=O

10) Y = 3/2X

11) [-3/2X+Y=Oj2 = -3X+2Y=0

12) on the graph

13 -15)
260

DE ~.. DG I

TE=TG+l DG+DE=260
RE=RG RGTG+RETE=260

TE+TG=5 fR(2) + R(3) =260

(TG+l)+TG=5 TE=(TG+l (samerate)
2TG=~TE=2+ 5R = 260, R=52

TG=2 TE=3

DE= (52)(3) = 156, 'DG= (52)(2) = 104
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16) 3"R1i 11'Ri. 5280~ 5280~
-l-x-l-x ~x ~x

1 yd. 1 yd. _ 9 2
3'ft.. x 3i4.. - ,292,800yd.

17) 88gs!. x 4 ~ x~ = 334.4 I
1 1~ 1~

18) 2424 + 52 + 64 = .17 = 17%

52
19) 140 = .37 = 37%

64
20) 140 =.46 = 46%
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1) [2Y = -6X + 10j -i- 2
Y = -3X + 5
m = 1/3 (negativereciprocal)

Y = 1/3X + b

(0) = 1/3(-1) + b

1/3 = b

2) Y = 1/3X + 1/3

3) [Y = 1/3X + 1/3]3
3Y = X + 1

-X + 3Y = 1

4) on the graph

5) Y = 3X + 1

6) (0,0), (-2,0)

7) Y < 3X + 1 (0) < 3(-2) + 1
(0),3(0) + 1 0<-5
0<1, yes no

8) on the graph - dotted line

Y2-Y1 2-(-2) 4 19) m=---=---=-=-=m
X2 - X1 5 - (-3) 8 2

Y = 1/2X + b = (2) = 1/2(5) + b

b = -1/2

10) Y = 1/2X - 1/2

11) [-1/2X+Y=-1/2j2 = -X+2Y=-1

12) on the graph

94 ~I
13 -15) I r-, c ~ DJ

TC=5 ]
TJ= 2/3 --.-
Rc= 3RJ

DC+DJ=94
RcTc + RJTJ= 94

(3RJ)(5) + (RJ)(2/3) = 94
15 2/3 RJ= 94, RJ= 6

RC= 3RJ
Rc= 3(6) = 18
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16) 14,500-iQ... 1iR... l-iA. 1-ft...

1 x-1-x-1-X12-i1l.,X

~ ~=839ft.31~. X 12-iR. .

17) 50~ x 1is..... x.45 kg = 1.4 kg
1 16~ 1iQ...

18 ~=~, M = 1260(24) =216
) 1260 140 M .. - g

Mc 52
19) -- =--, Mc

1260 140
1260(52) = 468 g
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20) 1260 =~' Mo

1260(64) = 576 g
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1) 2Y=X
Y = 1/2 X
m= 1/2

2) Y=1/2X-2

Y = 1/2 X + b
(-3) = 1/2 (-2) + b

-2 = b
~
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3) 2Y = X-4
-X + 2Y = -4 or X - 2Y = 4

4) on the graph

5) -Y=2X => Y=-2X

6) (0,1), (-1,0)

7) Y $ -2X
1$0
no

8) on the graph - solid line

0$-2(-1)
0$2
yes #8

#12

Y2-Yl 4-(-3) 79) m=---=---= -=m
X2-Xl 4-(-1) 5

Y = 7/5 X + b => (4) = 7/5 (4) + b

20/5 = 28/5 + b

b= -8/5

10) Y=7/5X-8/5

11) [-7/5X+Y=-8/5]5 => -7X+5Y=-8

16) 7.6 __ x 1-m. x ~ x 100 CHl...x
1 1 ~ 1-m.

100cm x100cm=7.6X106cm3
1-m. 1-m.

12) on the graph

620~ .62'm(.. = 384.4 mi.
17) -1-- x 1i11J:l.60

I •••13 -15) I Op OF

Rp=4
Tp= 12

RF=8

24 24
24 + 5 + 35 = 64 = 37.5%

]-.
Op + OF= 60
RpTp + RFTF = 60

(4)(12) + (8)(TF) = 60
48 + 8TF = 60

8T", = 12
TF= 11/2

35
20) 64 = 54.7%

18)

5
19) 64 =7.8%
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1) d=~!1X2 + !>.y2 or d=~(X2 - X1)2 + (Y2 _ Y1)2

2) ( Xl ; X2, Y 1 ; Y2 )

3) on the graph

4) (AB)2 = [(1) - (-2)]2 + [(5) - (3)]2 = (3)2 + (2)2 = 13

AB =..J13

5) (BC)2 = [(3) - (1)]2 + [(-2) - (5)]2 = (2)2 + (-7)2 = 53

BC =..J53

6) (OE)2 = [(-4) - (-1)]2 + [(-3) - (-1)]2 = (-3)2 + (-2)2 = 13

DE =..J13

7) on the graph

8) (AB)2 = [(3) - (-4)]2 + [(2) - (4)]2 = (7)2 + (-2)2 = 53

AB =..J53

9) (BC)2 = [(5) - (3)]2 + [(-3) - (2)]2 = (2)2 + (-5)2 = 29

BC =..J29

10) (OE)2 = [(-5) - (2)]2 + [(-2) - (-3)]2 = (-7)2 + (1)2 = 50

DE =..J50= 5..j2

11) on the graph

12) ((-6); (4), (2) ~ (-3)) midpoint = (-1, -1/2)

13) ((-2); (4), (4) ~ (-3)) midpoint = (1, 1/2)

14) ((-2);(3), (-2);(4)) midpoint = (1/2,1)

15) on the graph

16) ((0); (5) ,(0) ; (1) ) midpoint = (5/2,1/2)

17) ((-3); (-4), (5) ~ (-1)) midpoint = (-7/2, 2)

18) ((0); (0), (0) ~ (-3)) midpoint = (0, -3/2)

#3-6 B ~
i--

A

I..• to ;...
EJ... C +-

r-rt

"A
I

B r-~
u
l

E
0 1;

+-

#7-10

#11-14
B I-- C I--

A

1-0...

E
01--

#15-18

enQ.
S-
o~
CJ)
I\)....•.
m
N
I\)»


